Pd short test 2 --- 3 Dec 2014 ---
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Write down the output from the Pd window: 6)

<-- click

t is short for trigger
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<-- int, NOT float!

print:

Write down the output from the Pd window:

<-- click

bbb

7)
\

T T

loa

print] print:

Write down the output from the Pd window:

<-- click

ure

S nielsbohrweg2 rs' nielsbohrwegl

r nielsbohrwegl 8)

print]

print:

Write down the highest & lowest possible output

<--- click

highest lowest: 9)

Write down the output from the Pd window:

<-- click

Student name:

Write down the output from the Pd window:

<-- click twice
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Write down the output from the Pd window:

<-- click
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Write down the output from the Pd window:

<-- click

print:

Write down the output from the Pd window:

<-- click
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Points: Grade:

BONUS QUESTION: Extend this patch

in a way that it prepends the word
"open" to the message and then passes
the message on to the [readsf~]

<-- click

ilename.wav( <- the message
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route apple peach

print:
|print' print:

10) Write down the output from the Pd window:

<-- click




